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JIE 3z K4 OUT | I N |[#BX|H D | NET | &
1 fa] &R 1IE— 39 41 80 7.2 728 | BGE
2 e B 41 48 89 132 | 758
3 1,1,\'»*L ES 41 47 88 120 | 76.0
4 &g BXF 55 58 113 | 36.0 | 77.0 NP
5 BHA i 46 44 90 128 | 77.2
6 Tk =4 41 51 92 144 | 776
7 AR HE 42 47 89 112 | 778
8 KTﬁB HEX 42 52 94 16.0 | 78.0
9 ik EEB 44 51 95 16.8 | 78.2 NP
10 %} BH— 42 47 89 104 | 786 NP
11 e A 46 49 95 16.0 | 79.0 NP
12 §=E 44 52 96 16.8 | 79.2
13 BES RF 44 52 96 16.8 | 79.2
14 Tk 1ER 42 47 89 9.6 79.4
15 ik FAx 47 52 99 184 | 80.6
16 Tix BAK 44 47 91 9.6 81.4
17 —<F K —[& 50 47 97 152 | 818
18 TER REF 46 50 96 136 | 824
19 BE BE 47 50 97 136 | 834
20 £k RIE 47 55 102 | 184 | 83.6
21 =45FR EE 44 50 94 104 | 83.6 NP
22 X =F 50 51 101 | 16.8 | 84.2
23 Faﬁ =HH 42 49 91 6.4 84.6
24 =% HH 44 51 95 8.8 86.2
25 FEH A 44 54 98 104 | 87.6
26 =% RF 54 61 115 | 248 | 90.2
27 BHE EX 50 55 105 | 144 | 906
28 A IERE 50 51 101 8.0 93.0




